SN BE SN
M HY2IZH (B#Z =)
Sel: o2y (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=X 9,919,886 9,969, 440 A 49,554
= 3,457,508
& 1,139,779
< 473,745
s 4,848,854
HE2H I (BZ =) 166,396 176,677 A 10,281
ol 2| 82,574 82,241 333
ol Al 82,574 82,241 333
101 @124l 78,374 78,041 333
01 2= 75,327 75,137 190
OANZA2RY FHE(21Y) 21,928
— 5= 11,0023 x1H x10A 2t % 12& 1,321
— 6= 9,383 «8H *10Al 2tx12& 9,008
—-7=2 8,476 *7H «10Al 2t+ 123 7,120
— 8= 7,609& 4 H +10Al 2t+ 128 3,653
— 9= 6,878& 18 »10Al 2t 128 826
Ozuz22+¢ 8,476 +21H »25A1 2tx12& 53,399
02 JIEt A 2+ 3,047 2,904 143
OxIAZF(1Y) 3,047
—ANLAZ RS (FUE)
7,252 *1H «10Al 2t <123 871
—ZUZRFE 7,2523 *1H *25A1 2tx 128 2,176
203 ¥ S =&l 4,200 4,200 0
04 FEXNSEHE=LH 4,200 4,200 0
ORN2IEYRF=AHI 350,000 12& 4,200
Jl=234l 83,822 94,436 A 10,614
Jl23l 83,822 94,436 A 10,614
201 Yet2 | 44,742 47,306 ~2,564
01 At 22l 42,666 45,338 N2,672
Oget==ZHl SHA & 22,056
O=&tdl S8AH & 20,610
02 =224l 2,076 1,968 108
OAR A g HaH]
1,384& %34 *5A12tx100L 2,076
202 04l 36,280 34,130 2,150
01 = LH 4 Hi 36,280 34,130 2,150
O3 (2LH) 24,580
O=Uoitg(22l) 11,700
301 YptE A 2,800 0 2,800
10 HALAHI 242 2,800 0 2,800
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SN HE=XD
dM: GAHEE 25
CPlr BAEH JIBEA (e &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,638,900
< 6,400
e 840,650
SI3NEgusZ20Y 4,150 4,430 A 280
= 2,900
i 1,250
307 glz2tol & 4,150 4,430 A 280
= 2,900
e 1,250
02 QI2tF A8 X 4,150 4,430 A 280
OFAY EZMERS SHH (MDA )FX 4,150
= 2,900
fia 1,250
HEHSIE SJAALSY 1,929,000 1,300,000 629,000
= 1,350,000
[ia 579,000
401 AIEHIZ 28I 1,929,000 1,300,000 629,000
=2 1,350,000
s 579,000
01 A& Hl 1,722,797 1,211,571 511,226
OsZd = HMEHotd SJAAEY 1,722,797
=2 1,143,797
e 579,000
02 2feldl 200,000 82,062 117,938
O2Zdd=H MEHEHOIE=EJ ALY 200,000
= 200,000
03 Al 2 0HHI 6,203 6,367 A 164
OsZd = HMEotd SJAAY
1,722,797,000& *0.36% 6,203
= 6,203
Jeleld gsX& 8,000 10,000 A 2,000
= 4,000
s 4,000
202 (44l 1,000 2,000 A 1,000
= 500
[ia 500
01 = LH 4 HI 1,000 2,000 A 1,000
OO AEBERS =& 1,000
= 500
s 500
301 et d = 7,000 5,000 2,000
= 3,500
s 3,500
10 #AtAHIE A3 7,000 5,000 2,000
OJged s X& 7,000
= 3,500
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o e oY
oy =

M
)z

E

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 3,500
HN=AHUHLDX A 44,800 0 44,800
= 32,000
< 6,400
e 6,400
402 RI2EX=20l A 44,800 0 44,800
= 32,000
< 6,400
s 6,400
01 RIZERI2E X 44,800 0 44,800
OM=AHU WA AL 44,800
= 32,000
< 6,400
[ia 6,400
SEMHEEZ I LAY 500,000 0 500,000
= 250,000
[ia 250,000
401 AIEHI L 2 CHYI 500,000 0 500,000
= 250,000
s 250,000
01 A& HI 496,425 0 496,425
O=EMdHELZ LAY 496,425
= 248,200
s 248,225
03 Al 2 THHI 3,575 0 3,575
OZEMHEYZ ZdAMY
496,425,000 *0.72% 3,575
= 1,800
s 1,775
ots=E B3 52,144 112,867 A60,723
= 8,000
< 1,517
s 42,627
HMs=ES 18,560 16,860 1,700
201 £B-2dH| 1,700 0 1,700
01 At 22l 1,700 0 1,700
ozg, g &t 822 M=
2,500& 4008 1,000
ONMESEES2Y =& Sl
7,000 «2H x50 700
206 M= Hl 1,060 1,060 0
01 =8l 1,060 1,060 0
OOMESESHOIFIHMMNELL (LF0IRAIE) 1,060
301 et d = 14,300 14,300 0
10 HALAHI 242 13,800 13,800 0
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SA: B#FSTD
HHM: JoHEsHd B
Sel OIMES 25 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ORdloMsS=ES 2HE AREE It =
240,000 x20H 4,800
ORKRMHOMES M E=H (M HEH, X
22 =) 25,0003 x15H *x8L x3& 9,000
12 JIEtE A= 500 500 0
o, Yo MK BA 50,000& x10H 500
307 212t0| & 1,500 1,500 0
o1 o= 1,500 1,500 0
O0tME= EsX2 2AF 9 =H| 1,500
OrsES - Al 25 & HiX 7,584 7,584 0
= 1,517
= 6,067
101 Q124 4| 7,584 7,584 0
& 1,517
= 6,067
04 JI2ZtHIZ22NEE S 7,584 7,584 0
O0tMsAZ E5@ 40,3602 23 x03,952! 7,584
= 1,517
= 6,067
OFM ST/ o ol 2HAFS 16,000 0 16,000
= 8,000
= 8,000
402 SI2F X0l & 16,000 0 16,000
= 8,000
= 8,000
01 QI2tXE8 X 16,000 0 16,000
OOt SZ2 ToHoe At 16,000
= 8,000
= 8,000
SH&Z2 IHE24H X 10,000 30,000 A 20,000
302 Ol =L THoHE & 2 10,000 30,000 A 20,000
02 SIZ2tOITHoH &2 & 2 10,000 30,000 A 20,000
OtMES=E &2 Mol &2 24| 10,000
SIHAQHEE HIsANEE2L SENEEA 254,050 79,790 174,260
= 122,200
& 16,800
= 115,050
stFoEM ot 26,050 7,790 18,260
201 £Bt24 | 11,610 5,350 6,260
01 AP 2t 2| H| 10,800 4,600 6,200
Ogbt4=24| 10,600
—SHEQ2HAND BHEH(ERETS) R
100, 000& ~58+ A 500
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SA: B#FSTD
HHM: JoHEsHd B
e SHAHE=EZE HHEAIgaE2e SS$NEEA (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
—EYQHS A2 24 222
400,000 *3IH0 1,200
— QEEOIN HIEAIEE ANEEZE M
50,000& x17& 850
—dHSEAEAN Ot EMH HE
150 20, 000 Al CH 3,000
—HISOtAHSAYH S 2AdAIESES
150, 000& *5CH 750
~BEY SUTE 2FAMN 242
1,300,000& 11 A %13 1,300
—SAXNESE SHEH 44|
3,000,000& *13] 3,000
Ostdsd A XNIEEZE 1 =2t 200
— OtA 3} 50,000 x4H 200
02 22244l 810 750 60
O332=2 ¥ HA 810
— HSE FACUEAN RER2
2702 x3,0000H 810
202 04| 1,440 1,440 0
01 2L b 1,440 1,440 0
OStZId =AY SHHHLR2N=
60,000 x2S »7L 840
OBIAY 1Y Y AASK
60,000 x2H x5! 600
301 et A= 1,000 1,000 0
12 JIEtE A= 1,000 1,000 0
QEtF2aE AN TAZ 100, 000& 104 1,000
307 212t0| & 12,000 0 12,000
05 QIZ2tR EF 2 12,000 0 12,000
Oerxl XNIZHII=S ZBStAY 400,000 30 12,000
Sd0lE Hel XEAY 178,000 22,000 156,000
= 77,200
& 16,800
= 84,000
207 I & 10,000 0 10,000
= 10,000
01 g E Y| 10,000 0 10,000
OZd0IE B A 29 10,000
= 10,000
403 XX SRS R 20| & 168,000 0 168,000
= 67,200
=} 16,800
= 84,000
02 2J| 2 S 0l CH St CH & AFR 168,000 0 168,000
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2H: BESXD
HHM: JoHEsHd B
Sl BALHSH WEANYTUE SHNCH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZY O EXMC XA 2,400,000 *700F+ 168,000
= 67,200
= 16,800
= 84,000
SO 2H=0 XA 50,000 50,000 0
= 45,000
= 5,000
307 212t0| ™ 50,000 50,000 0
= 45,000
= 5,000
01 2l 2¥d32=H| 50,000 50,000 0
O&dIlol M= 50,000
= 45,000
= 5,000
Helat=elAld 22l Y =& ZAL 8,600 8,600 0
Moo, hER L B4 SEAA 8,600 8,600 0
201 gBt24y| 7,400 7,400 0
01 AP 2t 2| H| 7,400 7,400 0
Ogbt4=24| 7,400
—diAgeE2 2,000& 1004 200
SaAM=E2 2,000 x 1004 200
—HISAIEEXNECEHE =2 2BAANEE2 7,000
CIIEER 5,0002 x 10004 & 500
QLExel Al 50,000 *200H & 1,000
- IHl %= 350,000 1004 2~ 3,500
EHEL 200,000 =104 A&~ 2,000
202 044 1,200 1,200 0
01 2L bl 1,200 1,200 0
OLZHA A2 (XNEEHZ-LEAIHAH
60,000 x22 10 1,200
MEHII2 MHelANdE &9 709,448 726,196 N 16,748
s#ZTANE 29 709,448 726,196 ~16,748
101 Q124 H] 1,657 1,468 89
04 JI2ZtHIZ22NEE S 1,657 1,468 89
Ot 2| HE &H A
42 780 x4 3 x33| 1,541
Ot EE = 1,541,000& %1% 16
201 2et2 Y| 445,582 502,220 156,638
01 AP 2t 2] H| 65,800 77,840 A 12,040
OgttL2Y| 65,480
— EtH 2| HE A2 A E B AHA 2 Y
180,000 x0.5E 300 27,000
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SA: B#FSTD
dM: GAHEE 25
S MBHIIE MelAME 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—sagoldy 2ol A0E Y (NPEEY
108) 100,000& = 12& 1,200
—SF2AHEH =EZAM =8 4,800
Kot =BHA =22 (27 18])
600,000& *43] 2,400
BE> =EZA === 200,000 128 2,400
—SZ2AcHE 22AE TOISA A ==
=25 6,000,000& =13l 6,000
—SFBEAME AANE WIS 222
400, 000& *52== 20,800
—BFVRAME AYAE FIAUMN 242
800,000& x13l 800
—22ANE HE2BLe] HSZA =2
200,000 *13| 200
—BYAME DAUHE ALY B
220,000& 128 2,640
— 22ZAE FHEH G 170,000& =123 2,040
o=l 320
—ESZacldy 23 320
aYgs 50,0003 x4&H 200
ot 3t 30,000& 4H 120
02 2324l 379,782 424,380 A 44 598
Os&22= & HA 157,000
— 240, NAX SEEE = (30)
500,000& 30K 1,500
—Z A1 (2U), XAX, AKX, A&ES 01S
I BIIEAN =2 40,0003 «5CH 200
—EAXY BEEER 700, 000& = 1CH 700
—&Ex 03 EEEE=
1,000,000& = 1CH 1,000
— A eldy &I oF™ 2 A 2 AHHI (900Kw)
800,000& »12& 9,600
—gZac|dy MIAEZ
12,000,000& =128 144,000
O 2 i 3,876
— S dH(ALS, WEESHEs )t
=5 1,384& x4 *7Al2t+=100 3,876
OXt & Hl 83,406
—EZaedH HEFRXY(55,600) 83,406
OA&ZEHl s Xl 135,500
— S aeldy |SX2e(EZ) 20,000
HEAIE 5,000,000& =14 5,000
Hats8s d2AE 5,000,000& » 14! 5,000
22EAIE 10,000, 000& * 14! 10,000
—A2ZAE HE B2l Fad
8,000,000& =13l 8,000
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2H: BESXD
dM: GAHEE 25
S MBHIIE MelAME 23 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— A2tAIE wHEH 2 G (FRP) WAl 28,800
- 2H 70,0002 24074 16,800
- @ (FRP) 1,000, 000& =124 12,000
—AAANE 222 HEESE Wa HAEEZ
100,000 =158 A 1,500
—AANE AAZ BAT P
270,000& 1004 27,000
—AZANE 222 AR WH
9,600,000 1Al 9,600
—A2ZAE HEM 0lsA3F Wi
6,000, 000& 1Al 6,000
—AAs FELNE #3I wA
1,000,000 *50H 2~ 5,000
—AAANE 222 SHU WA 6,000
- RE+LY 1,000, 000 *4CH 4,000
- KEFR 500,000& »4TH 2,000
—A2ZAE NSHOUEE SIE50] wH
900, 0003 *4CH+23] 7,200
—22ZAE HISFY Jde AHE F
5,000,000 =2CH 10,000
—A2ZAE SHOA HHS 7 6,400
A S EED 100,000 =24 K 2,400
- SLHO PLCIHE 800, 000& 5K 4,000
202 o4dl 400 0 400
01 = LH o4 1l 400 0 400
OsABAME ZHNY FUNBANY S
20,0003 =10 «2H 400
203 YR =& 2,000 2,000 0
03 AIMZ=XH S =AY 2,000 2,000 0
OgZaeldlyd 42 F=UE 2,000
206 M= Hl 139,769 144,668 A 4,899
01 MHZ 4l 139,769 144,668 A 4,899
Otz 2eldH HEANE 228 =M ¢
900,000& »12& 10,800
Otz aeldly A2AE s2 2 2E RFH|
4,000, 000& *43] 16,000
Ostd&c|dy &4 M2 29 A4E(38) 5,000
OtF2eldE A2AAE 2 AZH (HAAAN
32 6F) 6,000,000& 122 72,000
Ostz zteldly & 2+F ]
40,0003 x15= 122 7,200
Otz zeldy &9 |JHI 2,869
— IR 2,036& x5004 1,018
- 8 1,851&*1,0004 1,851
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SN BA=ND
M oHEE B
S MBHIIE MelAME 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oty HEAME AdFHMAH ASHI
4,000 »4kg*300 4,800
OA2EAIE HIMM(XIZEHIIE) 2280 72(
0.58H) 8,000& »4Z 300 9,600
Ods=2Ud 3&HZE8 M=z 11,500
—HE(XH=8) 550,000 =104 5,500
—RANI(HLESE) 30,000& 2005 6,000
301 et a3z 60,840 60,840 0
12JIE243 60,840 60,840 0
Ostzg aeldy 32 Al
65,000 x26 L x3H «12& 60,840
401 AIEHI L 2 CHYI 59,300 15,000 44,300
01 A& HI 59,300 15,000 44,300
O22ZANE 222 U2 B3 A
30,000,000 » 14! 30,000
Ostd&c|HE 45 S+I3ME(ELS) 10,000
O0l=28X EXBA(2008E s@2e/dH &Y
T2 HES A ¢ Hkel 208-9) 19,300
25,000& »772m
MEHIIS HE 2 494,652 469,419 25,233
MEMY Il = 329,845 275,454 54,391
201 Yet2 | 246,498 221,961 24,537
01 At 2t 2l 13,700 12,700 1,000
Ogt=gHl 11,200
—SASMYD ZetiE €28 HE
603 *5,00004 x12& 3,600
—SYHSI HIJI=S 9 Hel==2
60,000 *50& 3,000
—MHE83 Sd=Hg 22 0t &€ a2
g 7Y 4002 2,500 1,000
—SHEH MEMYD = EHE
150,000& *63| x4 2] 3,600
Oogxz 2,500
—EYHSI HIIE = 24I gX
300,000& 5 1,500
—MBMYII2EE HMEXY ZH X
200,000 5 1,000
02 =224l 232,798 209, 261 23,537
O332= % HAl 13,440
— Xt FIEA =22 (HA 12, SAE 2,
Hes 2) 40,0003 = 16CH 640
— XY ZEEES(HA 12, S48 2, HE
g 2) 800,000& = 16CH 12,800
O Xttt 219,358
—HaXE(1200) 166,826
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SH: BA=TDY
M osd 25
ool MEHIIE XF2R (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— SAS $=HX(20,000km0l & 2CH)
13,133, 000& =2CH 26,266
—MEESE +=HXZ(20,000km0| & 2CH)
13,133, 000& =2CH 26,266
206 M= Hl 83,347 53,493 29,854
01 &2 bl 83,347 53,493 29,854
OMYIIEEM #ASE HE 81,747
— 2HE 43,370
Y/ 26 x70,0000H 1,820
- 104 342 =150, 0000H 5,100
- 204 53& 250, 0000H 13,250
- 504 116& 200, 000 0H 23,200
-338 7,337
- 204 53& *29,0000H 1,537
- 504 116-& %50, 000 0H 5,800
- MAESE 31,040
- 104 36-& *30,0000H 1,080
- 204 55& *500, 000 0H 27,500
- 304 82-& *30,0000H 2,460
OxZEMNE E2UW=Y 2 2,000 *50H 100
OSAEMHI] =HED F¢ 30,000& *50IH 1,500
MRt 2 ECHSD] 164,807 123,715 41,092
101 2124 1| 3,112 2,936 176
04 JIZtHIZ2E2XNHEE 3,112 2,936 176
OHAIE HAXK(SH2M, 2219, MAISHSE
H S) 42,7803 x8Y x9 A 3,081
OdtMEE = 3,081,000& *1% 31
201 et A b 51,995 18,279 33,716
01 AFR2 2t 2l dl 46,576 16,860 29,716
OgBt=gH]| 43,916
—ElEZES S 33Es 340885 Y
100,000& *x 122 1,200
— 25 A 2H(FEX S HERY)
10,000& = 1500 A~ x 128 1,800
—422s F& MY I 2EEIXNS It2F
& 28 2 32 P2 500, 000& =100 A 5,000
— 4222 222 H&E 1,200
o 100& =3, 0000H 300
Al 15,0003 *600H 900
—MEBEZUNEX AIZ2CE /s BA ==
= 34,716
Kot ZAIE 2B A =2
138,000& * 14l A~ x4 3] 7,728
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SN HE=XD
dM: GAHEE 25
Ce: MEmis HEate (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DML AN waw
411,000 37 A +43] 4,932
EAZHAM =2 919,000 244 2 *13] 22,056
O= &l 2,660
~H2H S A3 HSBA AN
7,000 «15H «12 1,260
—4822s =4 7,000% 28 1002 1,400
02 232gHl 5,419 1,419 4,000
OE- &SI 2 AIItHI 2H(CC-TV) | Xl Z2ldl 5,419
—QHY AIEZ 37,4003 *300 2+ 128 1,347
—dIIReRa 3,000 x20f & +12& 72
—0ls&Xxt s 2,000,000 »2CH 4,000
202 044l 1,200 0 1,200
01 = LH &4 1l 1,200 0 1,200
O482s =4 & M) 2SI ¢=
20,000 «2H 302 1,200
301 et a = 102,500 102,500 0
10 HALA B2 A2 2,500 2,500 0
Onf"s 2SI 23 W NBSAMA =
A 2,500
-89 200,000& 12«11 & 2,200
—=& 300,000& =12 300
12 JIE 24 = 100,000 100,000 0
O2sHII2 =% ZAS(HUYE, sYblgEs,
Hs%tsX) 100,000
401 A& HIZ 201 I 6,000 0 6,000
01 A& HI 6,000 0 6,000
O3sazd 2 300,000 #2004 2~ 6,000
MR EZE E B35 5,560,436 6,599,793 A 1,039,357
= 1,663,408
= 1,139,779
< 449,028
[ia 2,308,221
AT R 2e 3,029,180 3,938,489 A909,309
= 1,216,160
= 380,000
< 285,271
[ia 1,147,749
=t RIIAL S 1,823,567 2,190,561 A 366,994
= 994,417
< 242,293
[ia 586,857
301 et a3z 3,200 4,320 21,120
< 640
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S$I =X
METREL & ES
MR EABR (S5 &)
A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
o 2,560
10 #ALAHIE A Z 3,200 4,320 A1,120
OtE AT AAII=WR(8Y) 3,200
S 640
s 2,560
401 Al HI K 201 I 1,820,367 2,186,241 A 365,874
= 994,417
< 241,653
s 584,297
01 A& HI 1,787,657 2,094,675 A 307,018
O2UL2 I8 I1(1,200ha) 1,551,314
= 861,627
< 206,790
s 482,897
OO0 &Lk 213 D1 (80ha) 69,435
= 38,576
< 9,259
s 21,600
O=&gX ZHI21(70ha) 56,368
= 31,317
< 7,516
[ia 17,535
Odg =M1 (100ha) 80,540
= 44,745
< 10,738
s 25,057
Ot A X2 =4 (30ha) 30,000
< 3,000
[ia 27,000
02 Zeltl 25,000 81,039 256,039
O2 LR IR 1 (500ha) 25,000
= 13,875
< 3,325
s 7,800
03 AIE 2 0HHI 7,710 10,527 N2,817
O2UL2 21 I1(1,200ha) 5,695
= 3,160
= 757
s 1,778
OO0 el Lh2 13 D1 (80ha) 765
= 424
< 101
s 240
OZX& X ZHl21(70ha) 520
= 288
< 69
[ia 163
Od =M1 (100ha) 730
= 405
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2N
X ZH -
L= B

el

[o o A
A=
0x
|

—H
fol

[Relipall) ]
ov on oy
P

0x

e

wu

palp= )

SA-3H-S(3AH) - MRAS - BES Off &t 24
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1,543
198
464
03 Al 2 0H bl 406 1,024 AN618
OBlol2=&8 244

Hn A H HH A HHn A

EUNLY

M W

- 303 -




2N

X{ XH -
S =

[o o A
A=
0x
|

—H
fol

[Relipall) ]
ov on oy
P

0x

e

wu

palp= )

el

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

167
23
54

OSMHaxE 162

85

23

54

Mo A

MW

402 212t X201 & 5,074 12,686 AT,612
3,947
338
789

MW

5,074 12,686 AT,612
&l (2ha) 5,074
3,947

338
789

O
30
0
il
paa

<
e
N
>
i
H
B A

Mo H

bl
0x

12,160 12,800 A 640
6,080
1,824
4,256

MR

401 AIEHI L 2CHYI 12,160 12,800 A 640
6,080
1,824
4,256

Mo A

01 A& Hl 12,160 12,800 2640

O&rz 3 L & 2 4 (800ha) 12,160
6,080
1,824
4,256

M A

°
10
o
0%
nx
Pl
M0
02

200,000 37,500 162,500

160,000
40,000

M oR

401 AIEBIZ 2 CHYI 200,000 37,500 162,500

160,000
40,000

A o

01 A& HI 198,560 37,500 161,060

oussdxd 198,560
158,560
40,000

H 1,440 0 1,440
HEA 1,440
1,440

H oK

03 Al
ou

=]
2
o
=

tH

0

IR

o

o
i
1o
=]
P
0x

440,000 480,000 40,000

220,000
220,000

i

RUN0=]

401 AIEBIZ S CHYI 440,000 480,000 40,000
220,000

o

- 304 -




SN BA=ND
B NYUNAZTY U 25
S MR 42 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 220,000
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02 Zeltl 65,597 32,811 32,786
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03 Al S CHHI 2,677 3,197 A 520
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& 2,677
A AR 190,203 0 190,203
308 MXIEHMSOIH 190,203 0 190,203
05 HXNHMARSE = 190,203 0 190,203
OAZ AR (24 2) 72,153
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OXME 2 H A (3ha) 85,950
O o o 2 XH &S (2kn) 30,000
SEIZRS AtZ 22l 573,934 346,318 227,616
= 109,393
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[ia 314,541
S ESJSALY 88,070 71,743 16,327
101 14l 22,470 19,243 3,227
4 D12t Z2REES 22,470 19,243 3,227
OALHZEA, JIZSE AMHE Z24AMN
42,7803 6 x5 x4 3] 5,134
O F=014 & At=2e
42,780 5 x5 x43] 4,278
OFQET 28 B0 A=2](21042)
42,7802 8 x10 »32] 10,268
OFREZ IIZ2std & A3 & ZHI0]
42,780 x6H x5 x23| 2,567
OdMMEE= 22,247 ,000& x1% 223
201 Let24d] 2,000 2,500 A 500
02 =24l 2,000 2,000 0
OA& &l Xl 2,000
—0=J H24 80,000 »10CH 800
— &O020] S22 200,000& = 1CH 200
—JIAE sAacl 100,000& = 10CH 1,000
206 M= Hl 43,600 50,000 A 6,400
01 M= 8l 43,600 50,000 A 6,400
OZESASAMY ANMAL (LA, EH S) 2,000
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oMY LURallgis 22 5,000
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OAHEYE Z22372¢ 350 x32,0002 *33| 33,600
401 AlEHIZL £ 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
BHAGHOtE 2 H2AXSE ALY 20,000
2 422 31,876 46,600 N 14,724
101 2121 4| 4,876 4,600 276
04 JIZtHIZ22XNSES 4,876 4,600 276
OJtgx AAZE 22| 3702
60,330 x4 x10L x23| 4,827
Ot EE = 4,827 ,000& *1% 49
206 M = Hl 2,000 2,000 0]
01 M =4l 2,000 2,000 0
Oz gals 2H L €d3 2,000
401 AlEHIZL 2 0HY| 25,000 40,000 A 15,000
01 Al&H| 25,000 40,000 A 15,000
OANUWR 28 Ji24 £8ls 15,000
ONQR(HH~2s2H)2d L= 10,000
S AE=EXAEANY 13,988 13,975 13
2 8,393
= 5,595
101 Q124 4] 13,988 13,975 13
= 8,393
= 5,595
04 JIZtHI2E2XNSE 13,988 13,975 13
O AsI 222 (1Y) 13,988
= 8,393
= 5,595
2T E ALY 300,000 154,000 146,000
2 150,000
= 150,000
401 AlEHIZL 2 0HY| 300,000 154,000 146,000
2 150,000
= 150,000
01 Al&EH| 297,840 152,768 145,072
OJz2Lx=4(Hel 6km) 297,840
2 147,840
= 150,000
03 Al 201 Y| 2,160 1,232 928
Olzex4d 2,160
2 2,160
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2 80,000
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= 79,136
OsMB2E R LAY 864
2 864
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= 2,920
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= 12,000
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- _ _ RE]
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308 XHXIGH SO0l & 3,058 0 3,058
05 AXISHHZ2ZES S 3,058 0 3,058

OMEXZIIENE AZEEHS 3,058
401 Al HI L £ 0HHI 81,235 76,235 5,000
= 32,494
=} 14,622
= 34,119
01 Al & H| 81,235 76,235 5,000
OatE X0l A 22t XA (5ha) 21,235
2 8.494
& 3,822
= 8,919
Ol 2ZA It 2t M (1CH) 60,000
= 24,000
o= 10,800
= 25,200
405 XH&HF S HI 18,900 51,400 A 32,500
= 2,360
& 4,962
= 11,578
01 XA E B F S| 18,900 51,400 A\ 32,500
SHEREI(3Ut) 2,400
= 960
& 432
= 1,008
OJIHSMESRFAAL ASE(1H) 3,500
= 1,400
o= 630
= 1,470
Qa1 (1) 13,000
& 3,900
= 9,100

A2 X CHEH Y RISFAH| 22 63,878 62,117 1,761
101 Q124 H] 25,925 24,459 1,466
04 JI2ZtHIZ22NEES 25,925 24,459 1,466

OXME/AE RN =, L= EHII(11SH)

42 7802 x20H x30 25,668

OdHEE =2 25,668,000 *1% 257
201 gEt24Hy| 37,953 37,658 295
01 AP 2t 2] d| 4,750 4,750 0

Ogte=2H| 4,750

—AMEXRA Y HE 5,000 x2700H 1,350

—AEXA ZEIe HE 55,000 *200H 1,100

—MEXNSE A 7Y 2,300

SA(IOME) 100,000 109K 1,000
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B NYUNAZTY U 25
Chelt M O (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SA(13mE ) 130,000 =104 1,300
02 =24l 33,203 32,908 295
O2323 £ MAl 2,950
—ngwsa 2,950
LSS 400, 000& *3CH 1,200
B 600, 000 & »2CH 1,200
HESE 550,000& = 1CH 550
o9 = dl 1,454
—NEYX HEEE 29 Uy
1,384 x10A 2+ %105 1,454
OA&ZEHl s X bl 200
— M2 EY U (SEE2RIIS)
100,000& »23] 200
OXt&tl 27,087
— 283 =(30) 13,619,000& 13,619
—Sgss 5,812,000 = 1CH 5,812
—dEs8 4,432,000& = 1CH 4,432
—A28s5d 3,224,000 = 1CH 3,224
Ot Rl AlIStHcH AEHY A2
42,0003 *304 A+ 12 1,512
ME AR 2 4,537 9,313 A4, 776
= 4,537
301 gtE L= 4,537 9,313 A4, 776
= 4,537
09 BUAZIRRAB LS 4,537 9,313 N4 TT6
OUE LA SUAZLRA(3Y) 4,537
= 4,537
sz Es 2H 154,857 242,155 A87,298
= 81,410
< 22,034
i 51,413
A S YA 154,857 242,155 A87,298
= 81,410
< 22,034
e 51,413
101 @124 dl 46,704 46,704 0
= 23,352
< 7,006
e 16,346
4 D122 E2EXREES 46,704 46,704 0
Oz e (2y 46,704
= 23,352
< 7,006
s 16,346
201 Let4d] 570 855 A 285
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= 120
& 36
T 84
301 gt L= 2,198 2,000 198
= 1,009
< 330
= 769
12JEEd=s 2,198 2,000 198
QugHAR LA AL E (1004 2) 2,198
= 1,099
S 330
a 769
401 Al HI L ROl 104,635 183,096 A 78,461
= 56,300
= 14,500
= 33,835
01 A€ HI 101,860 177,210 275,350
OsZEAX LY LI 3 AH(30ha) 38,636
= 21,480
& 5,147
s 12,009
OZ=HZE XL ol M2 (20ha) 37,240
= 19,473
< 5,335
[ia 12,432
O&UEI LR ZFA(5ha) 3,419
= 1,977
[ 433
= 1,009
O&Y=nel Mol M2 (10ha) 17,767
= 9,290
< 2,545
[a 5,932
OJIEtoi & Xl &2 Al (30ha) 4,798
= 2,618
= 654
s 1,526
02 Zteltl 1,733 4,259 N2,526
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Sl AT AL el (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& bl 744,420 877,909 A 133,489
O T A& (2.0km) 435,410
= 304,786
s 130,624
OZ AT (1.0km) 130,965
& 91,675
e 39,290
OLE 2 EINE(2.0km) 129,263
= 90,483
s 38,780
O T2 4(8.0km) 36,000
& 25,200
e 10,800
O =& ABI(1km) 12,782
= 8,948
s 3,834
02 Zeltl 14,513 15,188 AB75
O Z Al H(2.0km) 8,450
& 5,915
e 2,535
OZ S (1.0km) 3,051
= 2,136
s 915
OLE 2 EINE(2.0km) 3,012
& 2,109
i 903
03 AIE 2 0H bl 5,151 5,785 A 634
O E4&IH(0.72%) 3,219
= 2,254
s 965
O AT(0.72%) 972
& 681
e 291
OLE2EINE(0.72%) 960
= 672
s 288
SN ZEHIALY 20,000 200,000 A 180,000
401 AIEBIZ 201 8I 20,000 200,000 A 180,000
01 A& HI 20,000 200,000 A 180,000
Oga JISa SHE MYz A &XI(L=30m) 20,000
A AMEIASE 27,984 27,950 34
= 16,794
s 11,190
101 @14 Hl 27,984 27,950 34
= 16,794
[ia 11,190
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